Auto-Umweltliste 2017 - Ranglisten
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1 |Toyota Prius 1.8 VVT-i Hybrid 1798 90/ 122 as| 67.0|Benzin 3.0 70|Euro6 A 88.8| * * k k%
2 VW eco up! 1.0 BMT Erdgas CH 999 50/ 68 m5| 69.0|Erdgas 2.9 66 |Euro6 A 87.0| * * kkx
2 |Skoda Citigo 1.0 Green tec CNG Erdgas CH 999 50/ 68 m5| 69.0|Erdgas 2.9 66 |Euro6 A 87.0| * * k * x
2 |Seat Mii 1.0 MPI Ecofuel CNG Erdgas CH 999 50/ 68 m5| 69.0|Erdgas 2.9 66 |Euro6 A 87.0| * % k% *x
3 |Audi A3 Sportback 1.4 TFSI g-tron S-tronic Erdgas CH 1395 81/110 a7| 69.0/Erdgas 3.3 71|/Euro6 A 84.2| * * k Kk x
4 VW Golf 1.4 TGI BlueMotion DSG Erdgas CH 1395 81/110 a7| 69.0Erdgas 34 74 |Euro6 A 83.0| X Kk * *x
5 |Lexus CT 200h Hybrid 1798| 100/136 as| 67.7|Benzin 3.6 82 |Euro6 A 81.4| * %k * *x
5 |Toyota CH-R 1.8 HSD Hybrid 1798 90/ 122 as| 66.7|Benzin 3.8 86 |Euro6 A 81.4| * * ok **x
7 |Seat Leon 1.4 TGI CNG Erdgas CH 1395 81/110 m6| 70.0|Erdgas 3.6 78|Euro6 B 79.0| * % * % %
8 |Suzuki Celerio 1.0 998 50/ 68 m5| 68.5/Benzin 3.6 84 |Euro6 A 78.8| * Kk kx
9 |Skoda Octavia 1.4 TSI DSG G-TEC CNG Erdgas CH 1395 81/110 a7| 71.0Erdgas 3.4 75|Euro6 A 78.2| * %k *
10 |Fiat Panda 0.9 TwinAir NP Erdgas CH 875 59/80 m5| 73.5|Erdgas 3.1 68|Euro6 A 76.8| * % k%%
10 |Suzuki Swift 1.2 1242 66 /90 m5| 66.0|Benzin 4.3 98 |Euro6 D 76.8| * % * % x
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1 VW eco up! 1.0 BMT Erdgas CH 999 50/ 68 m5| 69.0 Erdgas 2.9 66 |Euro6 A 87.0| * * kkx
1 |Skoda Citigo 1.0 Green tec CNG Erdgas CH 999 50/68 m5| 69.0 Erdgas 2.9 66 |Euro6 A 87.0| * * kK%
1 |Seat Mii 1.0 MPI Ecofuel CNG Erdgas CH 999 50/ 68 m5| 69.0|Erdgas 2.9 66| Euro6 A 87.0| * % k% *x
2 |Suzuki Celerio 1.0 998 50/ 68 m5| 68.5/Benzin 3.6 84 |Euro6 A 78.8| * * * x %
3 |Fiat Panda 0.9 TwinAir NP Erdgas CH 875 59/80 m5| 73.5|Erdgas 3.1 68|Euro6 A 76.8| * kK x*x
4 |Citroen C1 VTi 68 S&S 5T 998 51/69 m5| 69.0/Benzin 3.8 88 |Euro6 B 75.8| * * * x %
4 |Peugeot 108 PureTech 68 S&S 998 51/69 m5| 69.0/Benzin 3.8 88|Euro6 B 75.8| * k Kk x
6 VW up! 1.0 BMT ASG 999 55/75 a5l 68.0/Benzin 4.2 97 |Euro6 C 73.3| *xkx %
6 |Skoda Citigo 1.0 Green tec ASG 999 55/75 a5| 68.0/Benzin 4.2 97 |Euro6 C 73.3| *kkxk
8 |Seat Mii 1.0 MPI 999 55/75 a5l 68.0/Benzin 4.2 98 |Euro6 C 72.8| ** % x %
9 |Toyota Aygo 1.0 VVT-i 998 51/69 m5| 69.0/Benzin 4.1 95|Euro6 C 72.3| *xkxk
10 |Fiat Panda 0.9 TwinAir TB 80 875 59/80 m5| 71.5/Benzin 3.8 88|Euro6 A 70.8| * * * x %
10 |Smart fortwo 52 kW twinamic 999 52/71 a6| 70.0/Benzin 4.1 94|Euro6 C 70.8| * Kk * x
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1 |Suzuki Swift 1.2 1242 66 /90 m5| 66.0/Benzin 4.3 98 Euro6 D 76.8| * % * * *
2 |Nissan Micra 0.9 DIG-T 898 66 /90 m5| 66.0|Benzin 4.4 99 Euro6 C 76.3| * % * * *
3 |Toyota Yaris 1.5 VVT-i Hybrid 1497 74 /100 as| 73.0|Benzin 3.3 75|Euro6 A T4.3| %k kx*k
4 | Mitsubishi Space Star 1.0 999 52/71 m5| 69.0/Benzin 4.0 92|Euro6 C 73.8| * kK x x
5 |Peugeot 208 PureTech 82 ETG 1199 60/82 a5| 69.0/Benzin 4.1 95 |Euro6 B 72.3| *kkxk
6 |Fiat Punto 1.4 NP Erdgas CH 1368 51/70 m5| 71.0/Erdgas 4.2 92 |Euro6 E 69.8| *x * * %
7 |Audi A1 1.0 TFSI 999 70 /95 m5| 69.0/Benzin 4.2 97 |Euro6 DI B 68.5| * K *x %
8 VW Polo 1.0 TSI BlueMotion 999 70 /95 m5| 69.0/Benzin 4.2 98 |Euro6 DI B 68.0| *x * * %
9 |Fiat Punto 0.9 TwinAir 875 74 /100 m6| 73.0/Benzin 3.8 88 Euro6 A 67.8| * K * %
10 |Ford Fiesta 1.0 SCTi 998 74 /101 m5| 69.0/Benzin 4.3 99 |Euro6 DI B 67.5| x** %
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1 |Audi A3 Sportback 1.4 TFSI g-tron S-tronic Erdgas CH 1395 81/110 a7| 69.0/Erdgas 3.3 71|/Euro6 A 84.2| * xkk*
2 VW Golf 1.4 TGI BlueMotion DSG Erdgas CH 1395 81/110 a7| 69.0Erdgas 3.4 74|Euro6 A 83.0| * * k* %
3 |Lexus CT 200h Hybrid 1798| 100/136 as| 67.7|Benzin 3.6 82|Euro6 A 81.4| ** kkx
4 |Seat Leon 1.4 TGI CNG Erdgas CH 1395 81/110 m6| 70.0|Erdgas 3.6 78|Euro6 B 79.0| * * * x %
5 |Toyota Auris 1.8 VVT-i Hybrid 1798| 100/136 as| 71.0|Benzin 3.5 79|Euro6 A 76.3| * kK k%
6 |Hyundai lonig 1.6 GDi Hybrid 1580| 104/141 a6l 70.0/Benzin 3.4 79|Euro6 DI A 75.5| * * * x %
7 |Suzuki Baleno 1.2 Mild-Hybrid 1242 66 /90 m5| 68.7|Benzin 4.0 93|Euro6 B 73.9| Xk x*x
8 |Ford Focus 1.0 SCTi 999 74 /101 m5| 66.0/Benzin 4.6/ 105|Euro6 DI C 70.5| * % * x %
9 |Citroen C4 Cactus PureTech 82 ETG 1199 60 /82 a5l 70.3|Benzin 4.3/ 100|Euro6 B 67.2| % * % *x
10 |BMW 118i 3T Steptronic 1499| 100/ 136 a8 66.0/Benzin 4.8/ 112|Euro6 DI B 67.0| * * * x
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1 |Toyota Prius 1.8 VVT-i Hybrid 1798 90/ 122 as| 67.0|Benzin 3.0 70|Euro6 A 88.8| x xkk*
2 |Skoda Octavia 1.4 TSI DSG G-TEC CNG Erdgas CH 1395 81/110 a7| 71.0Erdgas 3.4 75|Euro6 A 78.2| ** *x %
3 VW Passat 1.4 TSI ACT BMT DSG 1395/ 110/150 a7 68.0/Benzin 5.0/ 115|Euro6 DI C 61.5| ***
4 |BMW 320i Steptronic 1998| 135/184 a8 66.0/Benzin 5.3| 124 |Euro6 DI C 61.0| ** %
5 |Ford Mondeo 2.0 Hybrid 1999| 140/187 as| 74.0|Benzin 4.2 99 Euro6 A 60.3| * * *
6 |Mercedes C 180 1595| 115/156 m6| 70.0/Benzin 5.0/ 116|Euro6 C 59.8| x *
7 |Audi A4 1.4 TFSI S-tronic 1395/ 110/150 a7| 68.0/Benzin 5.2| 119|Euro6 DI C 59.5| x x %
8 |Skoda Octavia 1.0 TSI 999 85/116 m6| 72.0/Benzin 4.5/ 104|Euro6 DI B 59.0| *x * %
9 |[Lexus IS 300h Hybrid 2494 1641223 as| 74.0|Benzin 4.2 97 |Euro6 DI A 58.5| *x x %
10 |Alfa Romeo Giulia 2.2 JTDM 180 2143| 132/180 a8| 66.4|Diesel 3.8 99 | Euro6 A 57.7| %%
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1 |Lexus GS 300h Hybrid 2494| 164 /223 as| 71.2|Benzin 4.4| 104 |Euro6 DI A 60.6| * * *
2 |Mercedes E 200d 1950| 110/150 a9| 72.0|Diesel 3.9 102|Euro6 RDE | A 56.6| * * x
3 |[Skoda Superb 1.4 TSI ACT DSG 1395/ 110/150 a7| 70.0/Benzin 5.1 117|Euro6 DI C 56.5| x*x
4 |BMW 530i Steptronic 1998| 185/ 252 a8 70.0/Benzin 5.5/ 126|Euro6 C 54.8| * x
5 |BMW 520d Steptronic 1995| 140/190 a8| 67.0|Diesel 4.1| 108|Euro6 A 52.0| *x*
6 |Mercedes E 200 1991 135/184 a9/ 70.0/Benzin 5.9| 132|Euro6 D 51.8| *x
7 |Audi A6 1.8 TFSI S-tronic 1798| 140/190 a7| 70.0/Benzin 5.7/ 133|Euro6 DI D 48.5| *x
8 |Jaguar XF E-Performance 1999| 120/ 163 m6| 70.0 Diesel 4.0/ 104 |Euro6 A 48.0| *
9 |Audi A6 2.0 TDI ultra S-tronic 1968| 110/150 a7| 70.0|Diesel 4.2] 109|Euro6 A 45.5] %
10 |Volvo S90 D3 Geartronic 1969| 110/150 a6| 69.0|Diesel 4.4) 115|Euro6 A 44.5| *
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1 VW Caddy Kombi 1.4 TGI BMT Erdgas CH 1395 81/110 a6b| 69.0/Erdgas 4.3 94|Euro6 C 72.6| * Kk *x
2 |Mercedes B 200 c Erdgas CH 1991 115/156 a7| 71.0/Erdgas 4.2 92|Euro6 D 69.8| ¥k * *
3 |Fiat 500L 0.9 TwinAir NP Erdgas CH 875 59/80 m6| 74.0|Erdgas 3.9 84 |Euro6 B 67.8| * k*x
4 |Ford C-MAX 1.0 SCTi 999 74 /101 m6| 67.0/Benzin 5.1/ 117|Euro6 D 65.3| * k k%
4 |Nissan Note 1.2 Visia 1198 59/80 m5| 69.0/Benzin 4.7/ 109|Euro6 D 65.3| * * *x %
6 |Fiat Qubo/Fiorino 1.4 NP Erdgas CH 1368 51/70 m5| 72.5 Erdgas 4.3 95|Euro6 E 65.2| *x * k%
7 |Fiat 500L 0.9 TwinAir 875 77 /105 m6| 69.6/Benzin 47| 108|Euro6 B 64.6| * * * %
8 |Ford B-MAX 1.0 SCTi 998| 103/140 m5| 68.5/Benzin 5.0/ 116|Euro6 DI D 60.0| * * %
9 |Citroen C3 Picasso 1.2 PureTech 110 1199 81/110 m5| 68.9/Benzin 5.0/ 115|Euro6 DI D 59.7| *x * %
10 |Ford Tourneo Courier 1.0 SCTi 998 74 /101 m5| 68.0|Benzin 5.3 120|Euro6 DI E 59.0| * *x
10 (VW Golf Sportsvan 1.0 TSI 999 85/116 m6| 71.0/Benzin 4.7\ 108|Euro6 DI B 59.0| *x*
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1 |Toyota Prius+ Wagon 1.8 VVT-i Hybrid 1798| 100/136 as| 68.0|Benzin 4.1 96|Euro6 A 73.8| * kK k%
2 VW Caddy Kombi 1.4 TGI BMT Erdgas CH 1395 81/110 a6| 69.0Erdgas 4.3 94 |Euro6 C T72.6| * * % x %
3 |Ford Grand C-MAX 1.0 SCTi 999 7417101 m6| 67.0/Benzin 5.2| 119|Euro6 D 64.3| * Kk **
4 |Fiat 500L Living 0.9 TwinAir 875 777105 m6| 69.6 Benzin 4.8/ 111|Euro6 B 63.1| * * k *x
5 |Opel Zafira Tourer 1.6 Turbo CNG Erdgas CH 1598| 110/150 m6| 72.0/Erdgas 4.7\ 103|Euro6 D 62.2| * kK *
6 |Fiat Doblo 1.4 NP Erdgas CH 1368 88/120 m6| 73.0|Erdgas 49| 107|Euro6 E 58.2| x *
7 |BMW 2er Gran Tourer 218i 1499| 100/ 136 m6| 69.0/Benzin 5.1 119|Euro6 DI B 57.5| xx*
8 |[Citroen Berlingo Multispace 1.2 PureTech 110 1199 81/110 m5| 69.6/Benzin 5.1 119|Euro6 DI C 56.3| x x %
9 |Citroen C4 Grand Picasso 1.2 PureTech 130 1199 96/131 m6| 71.3/Benzin 5.0/ 115|Euro6 DI C 54.9| *xx
10 (VW Touran 1.4 TSI BMT DSG 1395/ 110/150 a7| 69.0/Benzin 5.4| 125|Euro6 DI D 54.5| * %
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1 |Suzuki Swift 1.2 4x4 1242 66 /90 m5| 67.0/Benzin 49| 110|Euro6 E 68.8| * * *x %
2 |Suzuki Ignis 1.2 Mild-Hybrid 4x4 1242 66 /90 m5| 70.0|Benzin 4.7/ 106|Euro6 E 64.8| * * * %
3 |Lexus NX 300h Hybrid AWD 2494\ 1457197 as| 68.2|Benzin 5.1/ 117|Euro6 B 62.9| * Kk Kk *
4 |Toyota RAV4 2.5 Hybrid 4x4 2494| 145/197 as| 68.8/Benzin 5.0/ 116|Euro6 B 62.2| Xk * %
5 |Fiat Panda 0.9 TwinAir TB 85 4x4 875 63 /85 m6| 70.5/Benzin 49| 114|Euro6 D 59.8| x *x %
6 |Audi A3 Sportback 2.0 TFSI S-tronic quattro 1984 140/190 a7| 67.0/Benzin 5.8/ 132|Euro6 E 55.0| x*
6 |Suzuki S-CROSS 1.4 BJT 4x4 1373 103/140 a6l 68.0/Benzin 5.7 128|Euro6 F 55.0| *x*
8 |Lexus RX 450h Hybrid AWD 3456| 220/299 as| 70.5/Benzin 5.2/ 120|Euro6 B 54.0| x
9 |Suzuki Vitara 1.4 BJT 4x4 1373 103/140 a6l 69.0/Benzin 5.5/ 128|Euro6 E 53.0| *x*
10 |Subaru Impreza 1.6i AWD 1600 84 /114 as| 69.0|Benzin 5.9/ 136|Euro6 E 51.8| x*
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